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#include <iostream>
#include <cmath>
#include <algorithm>
#include <cstdio>
#include <string.h>
using namespace std;
int n;

int dp[250001];

int haschild[2500011;
struct node

int u,v,next;
int w;

node edge!500001];

int first[250001];

int tot;

inline void add edge(int x,int y,int z

edge++tot ] .u=x;edge tot]|.v=y;edge|tot].next=first|x];first|[x|/=tot;edgeltot
W=Z;
edge|++tot|.u=y;edgeltot]|.v=x;edge|tot]|.next=first|y];first|y|=tot;edgeltot
W=Z;
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void dfs(int now,int fa

int recv;
int i=first|[now|;i;i=edge/i].next
edge/i].v==fa
recv=i;

haschild| now

dplnow|=edgelrecv|.w;

;
int i=first|[now|;i;i=edge!1i|.next

int v=edge/i!.v;
vi=fa

dfs(v,now) ;
dp/now|+=dp|Vv];

// printf("%d %d\n",now,dp[now]);

fa
dp/now|=min(dp/now|,edge|recv|.w);

int main

scanf("%d",&n) ;
int i=1;i<n;i++

int u,v,w;
scanf ("%d%d%sd",&u,&v,&w) ;
add edge(u,v,w);

int m;
scanf("%sd",&m) ;
int i=1;i<=m;i++

memset (haschild,0,sizeof (haschild) );
memset (dp,0,sizeof(dp));
int k;
scanf("%d",&K) ;
int j=1;j<=k;j++

int t;
scanf("%sd",&t) ;
haschild|t|!=true;
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dfs(1,0);
printf("%sd\n",dpl[1]);
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// luogu-judger-enable-o2

// luogu-judger-enable-o02

#include<cstdio>

#include<algorithm>

#include<cstring>

#include<vector>

#define getchar() (pl == p2 & (p2 = (pl = buf) + fread(buf, 1, 1 << 21,
stdin), pl == p2) ? EOF : *pl++)

#define LL long long

char buf[(1 << 21) + 1], *pl = buf, *p2 = buf;
using namespace std;

const int MAXN = 250001;

inline int read

char ¢ = getchar(); int x =0, f = 1;
c<'0" || ¢c> "9 == '-') f = -1, ¢ = getchar();
c> '0' & c<='9'") x=x*10+c - '0', ¢ = getchar();
x * f;

char obuf|1 << 24], *0=obuf;
void print(LL Xx
X > 9) print(x / 10);
*O++= x % 10 + '0';

int N, M;

struct Edge
int u, v, w, nxt;

E/MAXN << 11;

int head[MAXN!, num = 1;

inline void AddEdge(int x, int y, int z
Einum| = (Edge) {x, y, z, head|x|};
head[x] = num++;

vector<int> v[MAXN];
void add edge(int x, int vy
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v[x]|.push back(y);

int alMAXN|, dfn[MAXN!, topf/MAXN|, siz/MAXN|, son[MAXN|, s|MAXN|, top,
deep/MAXN|, fa[MAXN|, ID = 0;

LL mn[MAXN];
void dfsl(int x, int _fa
sizix| = 1; falx] = fa;
int 1 = head[x]; 1 !'= -1; i = E[i].nxt
Elil.v == fa ;
deep/E[i].v] = deepix]| + 1;
mnE[il.v] = min(mn[x]|, (LL)E[i].w);

dfsl(E[il.v, X);
siz|x| += siz[E[i].v];
siz/E[il.v] > siz[son|Xx son/x| = E[i].v;

void dfs2(int x, int topfa
topf[x! = topfa;
dfnix] = ++ID;

Ison|x ;

dfs2(son/x|, topfa);
int i = head[x]; 1 != -1; i = E[i].nxt

ItopflEli].v

dfs2(E[i].v, E[i].v);

int LCA(int x, int y
topf[x| != topfly
deep|topf|x]|| < deepltopfly swap(x, y);
x = faltopfix]];

deep[x! < deeply swap(x, y);

y;
void insert(int x
top == s[++top! = Xx; H
int lca = LCA(x, sltop!);
lca == s|top ;
top > 1 && dfn|s/top - >= dfn{lcal) add edge(s|top - ,

s/top!), top--;
lca !'= s|top add edge(lca, sitop!), sitop| = lca;//

s/ ++top! = Xx;
LL DP(int x
v[(x].size == mn|x/|;
LL sum = 0;
int 1 = 0; i < v[x].size(); i++

sum += DP(v[x]|[i]);
vix].clear();
min(sum, (LL)mn[x]);
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int comp(const int &a, const int &b

dfnlal < dfn[b];
int main
memset(head, -1, sizeof(head));
//memset(mn, Oxff, sizeof(mn));
mn[l] = 111 << 60;
N = read();
int i =1; i <=N - 1; i++
int x = read(), y = read(), z = read();
AddEdge(x, y, z); AddEdge(y, x, z);
deep(1l] = 1;
dfsl(1, 0);
dfs2(1, 1);
M = read();
/*for(int 1 = 1; 1 <= N; 1i++)
for(int j 1

=1; j <= N; j++)
printf("%d %
//for(int 1 = 1; 1

’

M- -
int K = read();
int 1 = 1; i <= K; i++) alil = read();
sort(a + 1, a+ K+ 1, comp);
s[top = 1] = 1;
int i = 1; i <= K; i++) insert(alil);
top > O add edge(s|[top - 1], sltop
print(DP(1)), *0++ = '\n';
fwrite(obuf, 0-obuf, 1 , stdout);

0;
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d %d\n", i, j, LCA(1, j));*/
== N; i++) printf(”%d ", mn[i]); puts("");

’ top";
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